Задача 1.Для структурной схемы составить математическую модель


Рис.1. Структурная схема САУ

где   
[image: image1.wmf]1

5

.

0

)

(

1

+

=

s

s

W

;      
[image: image2.wmf]15

01

.

0

5

)

(

2

2

+

=

s

s

W

;        
[image: image3.wmf]s

s

W

10

)

(

3

=

;  
          
[image: image4.wmf]1

.

0

)

(

4

=

s

W

;       
[image: image5.wmf]1

.

0

)

(

5

=

s

W

;       
[image: image6.wmf]5

.

0

)

(

6

=

s

W

.






W1(s)





W6(s)





W5(s)





W3(s)





W2(s)





W4(s)











x(t)








g(t)








_1274079792.unknown

_1274079953.unknown

_1274080020.unknown

_1274080085.unknown

_1274079864.unknown

_1274079736.unknown

